880 = K M #H# B = E K

T 7 3 Z 5 6 7 8 -
aa 189‘3 > gy
1893-21 ) 840 | 841
w 879 | 880
o
VAN
&
R A A
1
B
B B
Bl LBl
— - — s mH R b ®
—— XF(MR T AFmmR
_— % 7 £ L
------- #EER T
————— i3 E 8 . HBBIE®
— R # & 5 —_— =
1234 it & B L 1234 i &
¢ ¢
SZETFH
D D
E E
= | Fll=
M M
% 15
E 1\4'; o 134.7 E
1 2 3 4 5 6 7 8
WE: HM6ELIALE BE ZoNEIZ, BEEERAAERERE LTHERLIEbDT WE: AM6ELIALR BE CoNEIE, BEEERABERERE LTHERLAEHDT
WEAERR R A A7 & O ERRILE B L2 LRI T, X 1:1250 BAMEHRR R AN HER 7% & OEIRIES LA VHETY, . 880
MENFRERTF () FRiE. EREIRBR 56D HY T, L £ £ = L ;o MENFREXRFE (B) Rz, EREERLBEV’HY 7,




